
Duration: 2 tnErs

Note:- l) All questions are compulsory'
2) Figures to the right indicate

QI) Attempt anY 4 of the following

1) What is automation? TYPes and

2) Consider the transitior.t

acceptability of 1 01 01 1

3) Write transitiot.r properties in brief
4) Constructs a Moore Machine that tzrkes

cvcfv occurrellce of 'ab' as a sr-rbstring.

5) What is the outpr-rt procluced by

(>) Llxplain Conversiou ol'Mealy Machine

QII) Attcrnpt an\'4 of the tbllowing

1) I-[orv to getrerate -qranlmar by langurage

2) What arc the diffbrerlt operzrtions

i ) Write R.cgr-rlar Grarnntar with an

4) Write the rules lbr regular expression'/

5) l'ro',,c that ( 1-l-00"1) + ( i + 00"1) ( 0
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Detern'rine the initial states, the llnal state and the

Col ( R )

Col (tJ)

Clo2 (tJ)
()o2 ( B)
Co2 (A)
Co2 (A)
cr02 (A)

Q3

Clol (l{)
of all strings over [a,b] as input ancl prirlt 'l' rls ()LrtPLrt l,)r

Clo 1 (A)

shown in the figure

J/nJ-F

more machine with an exatrple Col (R

(20 )

Explain it with an exanrple?

on languages'/

10 * l) 1,is equal to 0i.1 ( 0 +1 ,tl)

1-.

b\

Q2
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(r i r rnil thc rcgular expression fbr the tbllowing NIrA

(.) I I I) r\ttcmpt any 4 of the following

f

l

t liie conrllonents ol'pushclown Autourzrta
,, '\, lr.r1 urc the languages trccepted by Linezrr Bound

Co2 (A)

Co3 (A)
Co3 (l{)
Uo3 (lt)
Co3 (A)
c03 (R)

(20\

I i ,r lrrrt is cicrirration trce'? Explain .'vith example'?
lr : ()nsirle r the Granrrnar (l whole . Production are S --- aAS]a

'lr,ru lhut S --, aabbira and Construct a derivations tree
r, I '" ritc u notc or.r CPC sinrpli[ication

' :rtrlrrin'l'uringNlachine'i
I iir.iurl a l'Lrling u-rachine lvhich recogrriscs the languagc I-:01
r,r r, iut ulc Lhe languagcs accepted by Linear Bound Autor-nata.

i ii'r i \ttcrnpt any 5 of the follorving

i i ;)e :ign a DFA 1br ianguage, L, L1 : Set olall strings that
.,1r1uin thc type 1 Cirammar, wl-ricir machinc is tised fbr typel
()1 scrl.r'irting stling 00110101 fbrm grilnlmar S ---" 0B/1A,

rrosi ilcr-irra1 ion
.. pLrrirr Ii.ciluction o1' CIiCi :

(l s)

with 0 Co 1(A)
Co 1 (R)

-,0l0Sl 1 AA, ts---+1 /1 S/0B8. Find l{ight
Co2 (A)
c02(rr)
Co3(l{)

with exaniplc Co3 (lR

,{ ---+ sbA I sslba
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